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QUESTION 1

Exhibit: Referring to the exhibit which type of IPsec VPN should be used to create the desired topology? 

A. AutoVPN 

B. fully meshed VPN 

C. Group VPN 

D. hub-and-spoke VPN 

Correct Answer: C 

 

QUESTION 2

What is the minimum number of nodes in a Junos Space Fabric design? 

A. 2 

B. 3 

C. 5 

D. 1 

Correct Answer: D 

 

QUESTION 3

Your customer requires redundant routers and wants to use VRRP for the default gateway at their Internet edge. Which
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two statements are correct in this scenario? (Choose two ) 

A. VRRP will only support two routers 

B. The VRRP master and backup send advertisements to each other at regular intervals. 

C. VRRP dynamically elects master and backup routers 

D. VRRP for IPv6 provides a much faster switchover to an alternate default router than IPv6 neighbor discovery
procedures 

Correct Answer: BC 

 

QUESTION 4

You are asked to design a DDoS prevention system to help mitigate denial-of-service attacks that target your
customers. The management group wants to know the effect FlowSpec may have on current network operations if it is
implemented as a solution. In this scenario which two statements are correct? (Choose two ) 

A. FlowSpec can block traffic based on stateful flow information. 

B. FlowSpec can block traffic based on the source address. 

C. FlowSpec requires Jflow implementation and licensing. 

D. FlowSpec can block traffic based on the destination address. 

Correct Answer: BD 

 

QUESTION 5

Your customer is deploying a multi-tenant data center and needs help with the WAN edge design. What are two main
design considerations for this environment? (Choose two) 

A. support for Virtual Chassis Control Protocol 

B. support for unified threat management 

C. support for Network Address Translation 

D. support for data collection and analysis 

Correct Answer: CD 
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